
Adding Two 2-Digit Numbers 
(not crossing 10)

31 + 48 =                 25 + 13 =                 17 + 21 =                 42 + 46                  

54 + 33 =                 79 + 20 =                 81 + 14 =                 23 + 26 =                 

35 + 52 =                 66 + 12 =                 14 + 25 =                 48 + 11 =                 

82 + 16 =                 51 + 33 =                 22 + 37 =                 43 + 52 =                 

22 + 51 =                 74 + 22 =                 19 + 40 =                 37 + 61 =                 
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Adding Two 2-Digit Numbers 
(not crossing 10) Answers

31 + 48 = 89 25 + 13 = 38 17 + 21 = 38 42 + 46 = 88

54 + 33 = 87 79 + 20 = 99 81 + 14 = 95 23 + 26 = 49

35 + 52 = 87 66 + 12 = 78 14 + 25 = 39 48 + 11 = 59

82 + 16 = 98 51 + 33 = 84 22 + 37 = 59 43 + 52 = 95

22 + 51 = 73 74 + 22 = 96 19 + 40 = 59 37 + 61 = 98

Regent Studies | www.regentstudies.com

https://www.regentstudies.com

